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27 Bh 3.7 13.58]4.0 [3.8914.05|3.89(3.68|3.95(3.79|3.84|3.843.633.95|3.63

B 7% 3.5 3.5 [3.97]3.4313.63(3.50(3.57|3.7 |3.63|3.67|3.83|3.73|3.83 3.17

B4 4 33213.37(3.75|3.34(3.51|3.49|3.463.40 [3.40|3.36 3.4 13.49 3.563.48

20% [30% [31% [32% 33% |34 |35% |36* [37+ 38* |39% |40* |41* |42*

o 13.6713.4713.53(3.89(3.63|3.63|3.68|3.69|3.69(3.37|3.5713.36|3.16 3.58
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43% |44x |45% |46+
AT |3.793.26(3.74|3.74
fe 7 13.67|3.43(3.1313.23
24 13.693.68(3.29 13.30
BB —  REFT-ELEHEDER
(di1 di2 di3 dia dis die d| 46 |FLET
D=\|dyy d22 d2s daa das die dy 46 | B
d31 d32 d3sz diza dis dis VEPTIE 2
(40 40 379 374 40 4.05 3.74 | #4167
=343 367 3.67 3.7 357 38 323 B
_3.36 336 335 347 34 344 33024
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R REEGRE A,
M@ EEHRE 1598 “@HEL” OB GHEE

ni = éfl(dn)Nl
= f(di) N1+ f1(d2) N2+ f1(d3D) N3
N.(123)=1 AARFAAEESTHME 4 =40,dy =343,d3 =3.36
s = f(4.0)+ £,(343)+ f,(3.36)
& Bl (2)4F 5y = (4.0+3.43+3.36)/5=2.158
Q= EHEHEE 138 “RER” HEGERA
B B (D)4F - = f,(4.0)+ £,(3.43)+ £,(3.36) =2.6975
=@ EEHRE ¥4 8" B HES
& B (C)4F - nys = f,(4.0)+ £,(3.43) + f,(3.36)=2.403
GHZ @ EEHRE %325 “FREE” R AEA
BB (A)E . ma = f,(4.0)+ f,(343)+ £,(3.36)=0.605
G)Z @ BEHHAE %34 “FEE” FBEHES
8B ms = f,(4.0)+ f,(3.43)+ f(3.36)=0

TR @EEHEF e RARS
3

= S =it gt nat gt s =7.863
i=1

SHm . R @ EEHRE DI
r11=nyi/n = 0.2744

ri2 = na/ m = 0.3430
r13 = 3/ ny = 0.3056
r14 = nia/ m = 0.07693

ris=ms/n =0
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FHE ZEFEEHEE O EHEeE
ri1=Lriri2sriz>riasris) =[0.274,0.343,0.306,0.077, 0]
Fl32 5T A K43 = 438 5 B £ 2540 3B &

r» =[0.284,0.355,0.299,0.062, 0]
r3=[0.276,0.344,0.305, 0.076, 0]
rq =[0.279,0.349,0.302, 0.070, 0]
rs=[0.281,0.352,0.301,0.066, 0]
re =[0.294,0.365,0.292, 0.050, 0]
r»=[0.261,0.327,0.315,0.098, 0]
rs =[0.295,0.369,0.291, 0.045, 0]
ro =[0.270,0.338, 0.308, 0.083, 0]
r10=[0.261,0.326,0.315, 0.098, 0]
r11=10.250,0.312,0.323,0.115, 0]
ri>=[0.279,0.350, 0.302, 0.069, 0]
ri3=10.297,0.371,0.290, 0.424, 0]
ria=[0.274,0.343,0.306, 0.078, 0]
r1s =[0.264,0.330,0.313,0.093, 0]
rie =10.261,0.326,0.315,0.097, 0]
ri7 =[0.312,0.390,0.279, 0.186, 0]
ris =10.269,0.337,0.309, 0.085, 0]
r19 =[0.290, 0.360, 0.294, 0.056, 0]
r0=[0.278,0.348,0.303, 0.072, 0]
r21=[0.271,0.340,0.308,0.081, 0]
r2 =[0.285,0.356,0.298, 0.061, 0]
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723 =[0.276,0.344,0.305,0.075, 0]
124 =[0.278,0.347,0.303,0.072, 0]
725 =[0.285,0.357,0.298, 0.060, 0]
ra6 =[0.277,0.346, 0.304, 0.073, 0]
12, =[0.297,0.370, 0.290, 0.043, 0]
725 =[0.256,0.319,0.319,0.107,0]
120 =[0.265,0.331,0.313,0.093,0]
r10=[0.275,0.344,0.305,0.076, 0]

r3; =[0.276,0.345, 0.305,0.075, 0]
r3» =[0.296,0.370, 0.290, 0.044, 0]
r33=1[0.260,0.325,0.316,0.099, 0}
r34 =[0.257,0.321,0.318,0.104, 0]
r3s =[0.246,0.308, 0.326,0.120, 0]
r36 =[0.260,0.324,0.316,0.100, 0]
ry; =[0.258,0.322,0.317,0.102,0]
rg =[0.258,0.322,0.317,0.103, 0]
r19=1[0.267,0.333,0.311,0.089, 0]
rao =[0.257,0.321,0.318,0.104, 0]
ra1=1[0.260,0.325,0.316,0.100, 0]
rar =[0.285,0.355,0.299,0.062, 0]
ra3=1[0.287,0.361,0.296, 0.055, 0]
ras =10.258,0.323,0.317,0.102, 0]
ras =10.289,0.313,0.295,0.102,0]
rae =10.294,0.319,0.292,0.096, 0]
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